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he figures in the margin indicate full marks
for the questigns

TS fraers Aot e fan 1x8=8

nswer the following as directed :

Y OO (FICo TR WAy wRE 2w 2 -

Which of the following is not a subject
matter of macroeconomics?

(i) L o
Increase in the aggregate price level
(ii) I @1 R w9 wifEar

Increase in demand for a particular
commuodity

(iii) 345 TeAm
Aggregate production
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(2)

(iv) <1 SRR 5 T =

Total employment rate of an
economy

(o= Teac! qif% Ofed)

(Choose the correct answer)

(b) N0 = e v i et |

er-te 0ne example of stock and floV
Vvariables each.

() I8< T GDP e GNP3 ere 37 AR
PRI e

The difference between GDP and GNP 2t
market price is dyue to

(i) Izt
€xXport

(@) Sy
import

() it e

net export
(v) Romg ]
(EF) G %
NFIA TS S
5 (% Sextr 4z wfrea)
00
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(3)

(d) TR ©g4 To 4R 2
The basic assumption of Keynesian
theory is

(i) o fife

full employment

(i) 9 et 39

less than full employment
(iii) = Fgfees @R

over employment
(iv) S°RI GBS =

None of the above

(o= Teqenl AR Sferear)

(Choose the correct answer)

(e) 3™ MPC =0-8, (o8 @fdess 77 2’9

If MPC =0-8, then the value of multiplier
is
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(i) 8

(iii) S

(iv) S°¥9 9O18 72
None of the above

(vm Tl iz Tfejer)

(Choose the correct answer)
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() TEE SRA=F @ (5)=cor T
(C) + R T (1)1 (w5 o fa B )

Aggregate demand = total spending (E)
= consumption spending (C) *
investment Spending (I).

( Write True or False)
() TR e 2y oy
Inflation oceyrg when there is
(i) ¥ﬂEWFﬂ¢iﬂﬁm%§ﬁiﬂm
increase in money and credit
() T < ofy oy
increase ip aggregate spending
() TSR 1% 7 < oy

IncCrease jn Wages and cost
(iv) o7

All of the above |

(9% Tach i BRI
(Choose the correct anSwer)
T o

Powered money?

(h) % KRIGEE
What is higy,
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(S)

(b) &F© GDP ¥ @ GDP
Real GDP vs nominal GDP
(c) @waaﬂamfwmsimaaﬁqMQQ
Consumption function and its attributes
(d) &3 I81 [ S W SRR
Say’s law of market and its implications
(e) YT FROE

Functions of money

TS il oppiea Ses fra (afocs) @00 T foeqe) :

Answer the following questions (within 500
words each) :

3. (a) AR WA T oy aw 44 [

o iR w4y eyfRerr R SiI)|
el 2+10=12

Define macroeconomics. Explain the
evolution of macroeconomics as a
Separate discipline.

&9/ Or

(b) m{ﬁaswﬁaﬁw@ﬁﬂﬁ@mﬂww

[ ? FARIM ST S E S 21%\5]5%:3:5
HCEOT 47 | 1+6+5=12
Who was regarded as the father of

modern macroeconomics? Discuss the

objectives and limitations of macro-
economics.
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4. (a)

(b)

5. (a)

(b)

(6)

T 157% SRS g s 2@z e 9 |
=% W% SRR weltfess e R
UOR CFTIR, ST 547 | 7+4=11

Explain the circular flow of income in a
two-sector economy. In what way
injections and leakages influence the
level of economic activity? Discuss.

R4/ Or

SO SR ARAPR 375K sy o
B SR 2

Explain the valye added
measure GDP. Do
GDP leads to ;
welfare?

approach to
you think that rise in
nerease in  economic

RS SR 2 e ot BT F
ﬁW‘RW 1 2+4+5=11

What is aggregate demand? Explain the
Components and determinants  of
aggregate demand.

9241/ Or

mﬁq & w55 R o b
NS o R oI e
s 2+3+6=11
Define investment. D
8roSS 1nvestmen
Discuss the dete
demand.

istinguish between
t and net investment.
rminants of investment
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6. (@ ‘M M I R ‘9f foms’ ke

(b)

7. (@)

(b)
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3+8=11
What do you mean by ‘ull employment’?
Discuss the classical theory of output
and employment in this context.

241/ Or

@R WA WF F@e vew  SEREmRe
ST SH5RCERT | 11

Critically discuss the Keynesian theory
of income and employment.

Rr=eq @l Si[19 ©%Ch! SCEnl 4 | 11

Discuss Fisher’s quantity theory of
money.

%<1/ Or
wore frEcaes faey syie o e
Explain briefly about the following :

(i) (FFF SRS g
Keynesian theory of
preference

(ii) 49 g ==

Credit control measures

6+5=11

liquidity
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